PROPOSAL A (Road 20)

Bidder: The Shelly Company

Item	Description	Qty.	Unit	Unit Cost	Total Cost
407	Tack Coat	1,950	GAL	\$1.85	\$3,607.50
411	2" Stabilized Crushed Aggregate (1' each side), As Per Plan	170	TON	\$39.00	\$6,630.00
441	1" Asphalt Concrete Surface Course, Type 1 (448), PG 64- 22, As Per Plan	725	TON	\$82.00	\$59,450.00
441	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 64-22, As Per Plan	725	TON	\$82.00	\$59,450.00
Special	Formed Construction Joint	2	EACH	\$400.00	\$800.00
614	Maintaining Traffic	1	LUMP	\$1,500.00	\$1,500.00
624	Mobilization	1	LUMP	\$3,500.00	\$3,500.00
			TOTAL		\$134,937.50

Bidder: Ward Construction Co.

Item	Description	Qty.	Unit	Unit Cost	Total Cost
407	Tack Coat	1,950	GAL	\$2.20	\$4,290.00
411	2" Stabilized Crushed Aggregate (1' each side), As Per Plan	170	TON	\$44.00	\$7,480.00
441	1" Asphalt Concrete Surface Course, Type 1 (448), PG 64- 22, As Per Plan	725	TON	\$79.00	\$57,275.00
441	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 64-22, As Per Plan	725	TON	\$79.00	\$57,275.00
Special	Formed Construction Joint	2	EACH	\$350.00	\$700.00
614	Maintaining Traffic	1	LUMP	\$1,000.00	\$1,000.00
624	Mobilization	1	LUMP	\$1,000.00	\$1,000.00
			TOTAL		\$129,020.00

PROPOSAL B (Road M)

Bidder: The Shelly Company

Item	Description	Qty.	Unit	Unit Cost	Total Cost
407	Tack Coat	3,500	GAL	\$1.85	\$6,475.00
411	2" Stabilized Crushed Aggregate (1' each side), As Per Plan	250	TON	\$39.00	\$9,750.00
441	1" Asphalt Concrete Surface Course, Type 1 (448), PG 64-22	1,300	TON	\$81.75	\$106,275.00
441	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 64-22, As Per Plan	1,300	TON	\$81.75	\$106,275.00
Special	Formed Construction Joint	3	EACH	\$300.00	\$900.00
614	Temporary Centerlines	1.90	MILE	\$400.00	\$760.00
614	Maintaining Traffic	1	LUMP	\$3,500.00	\$3,500.00
624	Mobilization	1	LUMP	\$3,500.00	\$3,500.00
			TOTAL		\$237,435.00

Bidder: Ward Construction Co.

Item	Description	Qty.	Unit	Unit Cost	Total Cost
407	Tack Coat	3,500	GAL	\$2.20	\$7,700.00
411	2" Stabilized Crushed Aggregate (1' each side), As Per Plan	250	TON	\$44.00	\$11,000.00
441	1" Asphalt Concrete Surface Course, Type 1 (448), PG 64-22	1,300	TON	\$79.00	\$102,700.00
441	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 64-22, As Per Plan	1,300	TON	\$79.00	\$102,700.00
Special	Formed Construction Joint	3	EACH	\$350.00	\$1,050.00
614	Temporary Centerlines	1.90	MILE	\$900.00	\$1,710.00
614	Maintaining Traffic	1	LUMP	\$1,000.00	\$1,000.00
624	Mobilization	1	LUMP	\$1,000.00	\$1,000.00
			TOTAL		\$228,860.00

PROPOSAL C (Road H-13)

Bidder: The Shelly Company - NO BID

No Bid	TOTAL			
	LUMP	_	Mobilization	624
	LUMP	_	Maintaining Traffic	614
	EACH	သ	Formed Construction Joint	Special
	FT	20	Stop Line (at SR 115)	643
	MILE	0.50	Center Line	643
	MILE		Edge Line, 4"	643
	EACH	2	Catch Basin, 2-2B (Material Purchased by ODOT)	611
	FT	130	12" Conduit, Type D (Dual Wall Plastic) (Material Purchased by ODOT)	611
	FT	100	12" Conduit, Type B (Dual Wall Plastic) (Material Purchased by ODOT)	611
	TON	5	Rock Channel Protection, Type D with Filter, As Per Plan (Rock Purchased by ODOT)	601
	TON	375	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 70-22 (Polymer Additive), As Per Plan	441
	TON	15	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 70-22 (Polymer Additive), As Per Plan (<i>Material Purchased by ODOT</i>)	441
	TON	375	1" Asphalt Concrete Surface Course, Type 1 (448), PG 70-22 (Polymer Additive), As Per Plan	441
	TON	15	1" Asphalt Concrete Surface Course, Type 1 (448), PG 70-22 (Polymer Additive), As Per Plan (<i>Material Purchased by ODOT</i>)	441
	TON	128	Stabilized Crushed Aggregate (Berm)	411
	TON	10	Stabilized Crushed Aggregate (Berm), As Per Plan (Material Purchased by ODOT)	411
	GAL	1,050	Tack Coat	407
	TON	28	6" Aggregate Base, As Per Plan (<i>Material</i> Purchased by ODOT)	304
	TON	607	Asphalt Concrete Base Course, As Per Plan	301
	TON	80	Asphalt Concrete Base Course, As Per Plan (Material Purchased by ODOT)	301
	SY	1,203	Subgrade Compaction	204
	СҮ	75	Embankment	203
	FT	5,413	9" Deep, 2' Wide, Excavation Special	203
	EACH		Catch Basin Removed	202
	두	208	Pipe Removed	202
Cost Total Cost	Unit Cos	Qty.	Description	İtem

\$169,948.75		TOTAL			
\$1,000.00	\$1,000.00	LUMP	1	Mobilization	624
\$2,000.00	\$2,000.00	LUMP		Maintaining Traffic	614
\$1,050.00	\$350.00	EACH	3	Formed Construction Joint	Special
\$580.00	\$29.00	FT	20	Stop Line (at SR 115)	643
\$3,500.00	\$7,000.00	MILE	0.50	Center Line	643
\$4,675.00	\$4,675.00	MILE	-	Edge Line, 4"	643
\$2,000.00	\$1,000.00	EACH	2	Catch Basin, 2-2B (Material Purchased by ODOT)	611
\$3,510.00	\$27.00	FT	130	12" Conduit, Type D (Dual Wall Plastic) (Material Purchased by ODOT)	611
\$3,400.00	\$34.00	긔	100	12" Conduit, Type B (Dual Wall Plastic) (Material Purchased by ODOT)	611
\$500.00	\$100.00	TON	5	Rock Channel Protection, Type D with Filter, As Per Plan (Rock Purchased by ODOT)	601
\$33,750.00	\$90.00	TON	375	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 70-22 (Polymer Additive), As Per Plan	441
\$525.00	\$35.00	TON	15	1" Asphalt Concrete Intermediate Course, Type 1 (448), PG 70-22 (Polymer Additive), As Per Plan (<i>Material Purchased by ODOT</i>)	441
\$33,750.00	\$90.00	TON	375	1" Asphalt Concrete Surface Course, Type 1 (448), PG 70-22 (Polymer Additive), As Per Plan	441
\$525.00	\$35.00	TON	15	1" Asphalt Concrete Surface Course, Type 1 (448), PG 70-22 (Polymer Additive), As Per Plan (<i>Material Purchased by ODOT</i>)	441
\$5,632.00	\$44.00	TON	128	Stabilized Crushed Aggregate (Berm)	411
\$340.00	\$34.00	TON	10	Stabilized Crushed Aggregate (Berm), As Per Plan (Material Purchased by ODOT)	411
\$2,310.00	\$2.20	GAL	1,050	Tack Coat	407
\$1,904.00	\$68.00	TON	28	6" Aggregate Base, As Per Plan (Material Purchased by ODOT)	304
\$46,435.50	\$76.50	TON	607	Asphalt Concrete Base Course, As Per Plan	301
\$3,600.00	\$45.00	TON	80	Asphalt Concrete Base Course, As Per Plan (Material Purchased by ODOT)	301
\$1,203.00	\$1.00	SY	1,203	Subgrade Compaction	204
\$3,000.00	\$40.00	СУ	75	Embankment	203
\$12,179.25	\$2.25	긔	5,413	9" Deep, 2' Wide, Excavation Special	203
\$500.00	\$500.00	EACH	_	Catch Basin Removed	202
\$2,080.00	\$10.00	듀	208	Pipe Removed	202
Total Cost	Unit Cost	Unit	Qty.	Description	ltem

PROPOSAL D (Road 16)

Bidder: The Shelly Company

\$519,929.95		TOTAL			
\$20,000.00	\$20,000.00	LUMP	1	Mobilization	624
\$10,000.00	\$10,000.00	LUMP	1	Maintaining Traffic	614
\$800.00	\$400.00	EACH	2	Formed Construction Joint	Special
\$3,337.20	\$0.90	SY	3,708	Seeding & Mulching	659
\$4,998.00	\$4,185.93	MILE	1.194	Center Line	643
\$6,664.00	\$2,790.62	MILE	2.388	Edge Line	643
\$99,600.00	\$75.00	TON	1,328	Asphalt Concrete Intermediate Course, Type 2 (448), PG 64-22, As Per Plan	441
\$108,564.00	\$81.75	TON	1,328	Asphalt Concrete Surface Course, Type 1 (448), PG 64-22, As Per Plan	441
\$17,664.00	\$32.00	TON	552	Stabilized Crushed Aggregate, As Per Plan	411
\$3,363.00	\$4.75	GAL	708	Prime Coat	408
\$4,414.10	\$1.85	GAL	2,386	Tack Coat	407
\$13,260.00	\$30.00	TON	442	Aggregate Base, As Per Plan	304
\$164,323.00	\$73.00	TON	2,251	Asphalt Concrete Base Course, As Per Plar	301
\$6,339.60	\$1.20	SY	5,283	Subgrade Compaction	204
\$5,767.30	\$7.70	CY	749	Embankment	203
\$11,811.00	\$15.50	СҮ	762	Excavation	203
\$29,021.25	\$3.75	FT	7,739	Excavation, Special	203
\$2,983.50	\$8.50	СҮ	351	Pavement Embankment, Special	203
\$7,020.00	\$20.00	СҮ	351	Pavement Removed, Special	202
Total Cost	Unit Cost	Unit	Qty.	Description	Item

PROPOSAL D (Road 16)

Bidder: Ward Construction Co.

\$509,727.15		TOTAL			
\$2,000.00	\$2,000.00	LUMP	1	Mobilization	624
\$4,000.00	\$4,000.00	LUMP	1	Maintaining Traffic	614
\$700.00	\$350.00	EACH	2	Formed Construction Joint	Special
\$5,562.00	\$1.50	SY	3,708	Seeding & Mulching	659
\$5,014.80	\$4,200.00	MILE	1.194	Center Line	643
\$6,686.40	\$2,800.00	MILE	2.388	Edge Line	643
\$100,928.00	\$76.00	TON	1,328	Asphalt Concrete Intermediate Course, Type 2 (448), PG 64-22, As Per Plan	441
\$104,912.00	\$79.00	TON	1,328	Asphalt Concrete Surface Course, Type 1 (448), PG 64-22, As Per Plan	441
\$24,288.00	\$44.00	TON	552	Stabilized Crushed Aggregate, As Per Plan	411
\$3,540.00	\$5.00	GAL	708	Prime Coat	408
\$5,249.20	\$2.20	GAL	2,386	Tack Coat	407
\$17,238.00	\$39.00	TON	442	Aggregate Base, As Per Plan	304
\$168,825.00	\$75.00	TON	2,251	Asphalt Concrete Base Course, As Per Plan	301
\$5,283.00	\$1.00	SY	5,283	Subgrade Compaction	204
\$8,988.00	\$12.00	СҮ	749	Embankment	203
\$12,954.00	\$17.00	СҮ	762	Excavation	203
\$17,412.75	\$2.25	FT	7,739	Excavation, Special	203
\$8,424.00	\$24.00	СҮ	351	Pavement Embankment, Special	203
\$7,722.00	\$22.00	СҮ	351	Pavement Removed, Special	202
Total Cost	Unit Cost	Unit	Qty.	Description	Item